
Watch Lesson 1 on White Rose and complete the task below.     

              

8+4=___                                         9+7=____ 

 

7+5=___                                         5+9=____ 

 

9+6=___                                         6+5=____ 

 

7+8=___                                        8+7=____ 

                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                     

1) Ms Mohamed had 7 balls. Ms Lockwood gave 

her 8 more balls. How many balls does Ms 

Mohamed have altogether? 

 

2) Lola had 9 candles, she went to the shop and 

bought 9 more candles. How many candles did 

she have in total? 

 

3) Jamal had 5 oranges. Ms Farah gave him 9 

more oranges. How many oranges did Jamal 

have now?  


